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Preface
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Entity Relationsip Diagram

- Parch and posey is a 

fictional poster store

- Queries are made in 

Microsoft SQL Server



Questions

1. What is the price of each poster type?
2. Which sales rep sell the most amount?
3. Which company has the highest total purchase amount?
4. Sales rep total sales for each region
5. Provide the name of sales rep in each region with the highest total sell
6. For the region with the largest (sum) of sales total_amt_usd, how many total (count) orders were 

placed?
7. Who was the Sales Rep associated with the earliest web_event?
8. Who was the primary contact associated with the earliest web_event?
9. Is there are any accounts associated with more than one region?

10. Have any sales reps worked on more than one account?
11. How many of the sales reps have more than 5 accounts that they manage?
12. How many accounts have more than 20 orders?
13. Which account used facebook most as a channel for their web events?

Special case: Provide 10 most prioritized companies for strategy development
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What is the price of each poster type?
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select distinct std, gloss,poster
from (select (standard_amt_usd/standard_qty) 
as std,
(gloss_amt_usd/gloss_qty) as gloss,
(poster_amt_usd/poster_qty) as poster
from orders) as yaya
where std is not NULL and gloss is not null 
and poster is not null

Result

499 dollar for standard type, 749 dollar for gloss type, 
and 812 dollar for poster type

Answer

1

Query

We used distinct to make sure that the prices 
are the same for the same poster type (the 
prices do not have other unique values)



Which sales rep sell the most amount?
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select top 1 s.name, sum(o.total_amt_usd) as 
total_sales
from sales_reps as s
join accounts as a on s.id = a.sales_rep_id
join orders as o on a.id = o.account_id
group by (s.name)
order by sum(o.total_amt_usd) desc

Result

Earlie Schleusner

Answer

Query

We used top 1 to limit the number of output
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Which company has the highest total purchase amount?
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select top 1 a.name, sum(o.total_amt_usd) as 
total_sales
from accounts as a
join orders as o on a.id = o.account_id
group by a.name
order by sum(o.total_amt_usd) desc

Result

EOG Resources

Answer

Query

We used top 1 to limit the number of output
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Sales rep total sales for each region
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select s.name, r.name, sum(o.total_amt_usd) 
as total_sales
from region as r
join sales_reps as s on r.id = s.region_id
join accounts as a on s.id = a.sales_rep_id
join orders as o on a.id = o.account_id
group by s.name, r.name
order by s.name

ResultQuery

.

.

.
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Provide the name of sales rep in each region with the highest total sell
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select region, sales, total_sales
from (

select r.name as region, s.name as 
sales,sum(o.total_amt_usd) as 
total_sales, ROW_NUMBER() 
over(partition by r.name order by 
sum(o.total_amt_usd) desc) as row_num
from region as r
join sales_reps as s on r.id = 
s.region_id
join accounts as a on s.id = 
a.sales_rep_id
join orders as o on a.id = 
o.account_id
group by r.name, s.name) as Tabell

where row_num = 1
order by total_sales desc

ResultQuery
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For the region with the largest (sum) of sales total_amt_usd, how many total 
(count) orders were placed?
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select count(*) as order_count
from region as r
join sales_reps as s on r.id = s.region_id
join accounts as a on s.id = a.sales_rep_id
join orders as o on a.id = o.account_id
where r.name in (select top 1 r.name
    from region as r
    join sales_reps as s on r.id = 
s.region_id
    join accounts as a on s.id = 
a.sales_rep_id
    join orders as o on a.id = o.account_id
    group by r.name
    order by sum(o.total_amt_usd) desc)

Result

2357 orders

Answer

Query

Where subquery to provide the region with 
the largest total sales

Result (subquery)
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Who was the Sales Rep associated with the earliest web_event?
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select s.name
from accounts as a
join web_events as w on a.id = w.account_id
join sales_reps as s on a.sales_rep_id = 
s.id
where w.occurred_at in (
    select min(w.occurred_at)
    from accounts as a
    join web_events as w on a.id = 
w.account_id
    join sales_reps as s on a.sales_rep_id = 
s.id)

Result

Dorotha Seawell

Answer

Query

Where query to provide the earliest web event
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Who was the primary contact associated with the earliest web_event?
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select a.primary_poc
from accounts as a
join web_events as w on a.id = w.account_id
join sales_reps as s on a.sales_rep_id = 
s.id
where w.occurred_at in (
    select min(w.occurred_at)
    from accounts as a
    join web_events as w on a.id = 
w.account_id
    join sales_reps as s on a.sales_rep_id = 
s.id)

Result

Leana Hawker

Answer

Query

Where query to provide the earliest web event
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Is there are any accounts associated with more than one region?
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select company, region
from (select a.name as company, r.name as 
region, ROW_NUMBER() over(partition by 
a.name order by r.name) as row_num
    from region as r
    join sales_reps as s on r.id = 
s.region_id
    join accounts as a on a.sales_rep_id = 
s.id
    group by a.name, r.name) as tabellll
where row_num > 1

Result

No, each account is only associated with one region

Answer

Query

Row number is used to mark the number of 
region each account had
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Have any sales reps worked on more than one account?
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select count(distinct sales) as 
num_of_salesrep
    from (select s.name as sales, a.name as 
company, ROW_NUMBER() over(partition by 
s.name order by a.name) as row_num
    from accounts as a
    join sales_reps as s on a.sales_rep_id = 
s.id
    group by s.name, a.name) as tabellll
where row_num > 1

Result (subquery)

Yes, there are 50 sales rep that worked on more than 
one account

Answer

Query

Row number is used to mark the number of 
account each sales rep had. Distinct sales is 
used to fetch unique sales rep names

Result
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How many of the sales reps have more than 5 accounts that they manage?
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select count(distinct sales) as 
num_of_salesrep
    from (select s.name as sales, a.name as 
company, ROW_NUMBER() over(partition by 
s.name order by a.name) as row_num
    from accounts as a
    join sales_reps as s on a.sales_rep_id = 
s.id
    group by s.name, a.name) as tabellll
where row_num > 5

Result (subquery)

There are 34 sales rep that have more than 5 accounts 
to manage

Answer

Query

Row number is used to mark the number of 
account each sales rep had. Distinct sales is 
used to fetch unique sales rep names

Result

11



How many accounts have more than 20 orders?
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select count(*) as account_num
from (select a.name, count(o.id) as 
order_count
    from accounts as a
    join orders as o on a.id = o.account_id
    group by a.name
    having count(o.id) > 20) as tabellll

Result

There are 120 accounts that have more than 20 
orders

Answer

Query

From query to fetch accounts that have more 
than 20 orders
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Which account used facebook most as a channel for their web events?

16

select top 1 a.name, count(*) as count

from accounts as a
join web_events as w on w.account_id = a.id

where w.channel = 'facebook'

group by a.name

order by count(*) desc

Result

Gilead sciences

Answer

Query

We used top 1 to limit the number of output
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Provide 10 most prioritized companies for strategy development
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With assumption that Parch and Posey (P&P) does not have specific target market, we will identify the 
prioritized companies by their Customer Lifetime Value (CLV). CLV is a common metric that can measure how 
profitable the customer is in current time or in the future.

According to Gupta (2006), CLV can be measured by three factors:
1. Recency : How recent the customer purchased the products
2. Frequency : The frequency of customers’ order
3. Monetary : The total amount of money the customer spent in the company

Then, each factor is weighted subjectively according to the stakeholder requirements.  The following is the 
formula to measure customers’ CLV

CLV = weight * recency + weight * frequency + weight* monetary

Special Case



Provide 10 most prioritized companies for strategy development
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1. Recency

For limitation, the recency calculation will be based on the latest date the orders had been 
made in the dataset. The recency data is then calculated by identifying the date difference 
between the max date on the whole dataset with the latest date each company had ordered 
in P&P.

2. Frequency

The frequency data will be identified by counting the number of unique order id for each 
company

3. Monetary

The monetary data will be identified by calculating the total of purchase amount that each 
company had made at all time 

Special Case



Provide 10 most prioritized companies for strategy development
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with group_1 as (Select a.name as company, count(o.id) as 
frequency,sum(total_amt_usd) as monetary, 
max(occurred_at) as max_date
from accounts as a
join orders as o on a.id = o.account_id
group by a.name),

First thing first, we are making a CTE that will 
fetch the name of the company, their order 
frequency, their total monetary value, and the 
latest date they made an order

Result (inside the subquery)

.

.

.

Special Case



Provide 10 most prioritized companies for strategy development
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group_2 as (select company,
(cast(frequency as float)/cast((select sum(frequency) from 
group_1) as float)) as frequency,
(cast(monetary as float)/cast((select sum(monetary) from 
group_1) as float)) as monetary,
-1 * DATEDIFF(day,(select max(max_date) from group_1), 
max_date) as recency
from group_1),

Then, we are making the second CTE to 
standardize the frequency and monetary 
value. The recency column is made of the 
difference between the max date of all order 
with the max date for each company

Result (inside the subquery)

.

.

.

Special Case



Provide 10 most prioritized companies for strategy development
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select top 10 company, (recency * 0.2 + frequency * 0.3 + 
monetary * 0.6) as CLV
from (select company,
cast(recency as float)/cast((select sum(recency) from 
group_2)as float) as recency,
frequency, monetary from group_2) as tabelllll
order by CLV desc

The last step is to count the CLV. It is assumed 
that weight for recency is 0.2, frequency is 0.3, 
and monetary is 0,6.  The monetary value is 
standardized first (in from subquery)

Result

Special Case


